

۱۴/۵

مسئله ۱

ا- تفاضل بین (دستمال) و باید خارج را هم بنویسند

$$\Delta = 0 \rightarrow (m+r)^2 - 4\left(\frac{m}{r}\right)xy = 0 \rightarrow m^2 + 9m + 9 - 12 = 0 \rightarrow m^2 - 3m + 9 = 0 \rightarrow m = 2$$

$$\lim_{x \rightarrow a} \frac{\sqrt{9x^2 + 9x + \frac{9}{x}}}{|9x^2 + a^2|} = \frac{\sqrt{9(x^2 + x + \frac{1}{x})}}{|9x^2 + a^2|} = \frac{\sqrt{9|x + \frac{1}{x}|}}{|9x^2 + a^2|}$$

$$\lim_{x \rightarrow \frac{1}{r}} \frac{\sqrt{9|x + \frac{1}{x}|}}{r|x^2 + \frac{1}{x}|} = \frac{\sqrt{9|x + \frac{1}{x}|}}{r|x + \frac{1}{x}| |x^2 - \frac{1}{x}x + \frac{1}{x}|} = \frac{r\sqrt{9}}{r^3}$$

$$9a^2 + a^2 = 0 \rightarrow a^2(9a+1) = 0 \rightarrow \begin{cases} a=0 \rightarrow \frac{0}{0} \times \\ a=-\frac{1}{9} \rightarrow \frac{\sqrt{9|x + \frac{1}{x}|}}{|9x^2 + \frac{1}{9}|} = \frac{0}{0} \checkmark \end{cases}$$

$$\frac{r \tan b}{\sqrt{-(-\frac{1}{r})}} = \frac{r\sqrt{9}}{r^3} \rightarrow \tan b = \frac{\sqrt{9}}{r^2} \rightarrow b = \frac{\pi}{9}$$

9

$$\Delta n^r = a_n + b_s, \quad \Delta - a + b_s, \\ b - a_s - \Delta \quad b_s - c \\ b + a_s - 1 \quad a_s - r$$

$$\left[\frac{-r \pm \sqrt{r^2 - 4(-\frac{1}{r})}}{2(-\frac{1}{r})} \right] = \left[-\frac{r}{2} \right] = \left(-\frac{r}{2} \right)$$

۲

$$f'(x) =$$

$$f(1) = \lim_{n \rightarrow 1} f(n) = \lim_{n \rightarrow 1} \frac{n^r + an + b}{n-1} = \frac{0}{0} \xrightarrow{\frac{0}{0}} n^r + an + b_s, 1+a+b_s, a+b_s-1$$

$$f(n) = \begin{cases} \tan\left(\frac{(r_{m+1})\pi}{r}\right) & ; m \leq 1 \\ \frac{|n^r + n - r|}{a(1-n)} & ; 1 < m < \Delta \\ b(n - \lceil -m \rceil) & ; m \geq \Delta \end{cases}$$

$\lim_{n \rightarrow 1^+} f(1) = f(1), \quad \lim_{n \rightarrow \Delta^-} f(\Delta) = f(\Delta)$

$$\lim_{n \rightarrow 1^+} \frac{|n^r + n - r|}{a(1-n)} = \frac{0}{0} \xrightarrow{\frac{0}{0}} \frac{(n-1)(n+r)}{-a(n-1)} = \frac{r}{-a}$$

$$f(1) = \tan \frac{r\pi}{9} = -1 \quad \frac{r}{-a} = -1 \quad \boxed{a = r}$$

۲

$$\lim_{n \rightarrow \Delta} \frac{|n^r + n - r|}{a(1-n)} = \frac{\infty}{\infty} = -\frac{r}{a}$$

$$\boxed{ab = r_x - \frac{r}{r} = -\frac{r}{1}}$$

$$f(\Delta) = b(\Delta - \lceil -\Delta \rceil) = 1 \cdot b = -\frac{r}{r} \quad \boxed{b = -\frac{r}{r}}$$

$$f(n) = a[n+1] + b[n+1] \rightarrow a[n+1] + b[n] + b[a+1] \quad \frac{a[a]}{f(a)} = \frac{a[a]}{b[a]} = \frac{a}{b} = \frac{-b}{b} = -1$$

$$a[a+1] + b[a] + b[a+1] = a(a+1) + b(a) + b(a+1) = a^2 + rab + a + b \rightarrow a^2 + ra(-a) - a - a$$

$$a^2 - ra^2 = \textcircled{-a}$$

$$\lim_{n \rightarrow a^-} f(n) = \lim_{n \rightarrow a^-} a[a+1] + b[a^-] + b[a+1] = a(a) + b(a-1) + b(a+1)$$

$$[a^-] = a-1$$

$$a^2 + ba - b + ba + b = a^2 + rba$$

1, VQ

$$a^2 + rba + a + b = a^2 + rba \rightarrow a = -b \quad \frac{f(a)}{-a} = f(a) = \textcircled{-a}$$

$$f(n) = b[m^r - an] - ra \quad D_f = \mathbb{R}$$

$$f(a) = ra \rightarrow \text{b=0} \quad \text{بصورتی که}$$

$$\frac{a}{f(b)} = \frac{a}{-ra} = \textcircled{\frac{1}{-r}}$$

✓

$$f(n) = \begin{cases} \frac{m^r + mn + n}{a-m} & ; n \neq a \\ r & ; n = a \end{cases}$$

$$f(ra) = r$$

1, VQ

$$\lim_{n \rightarrow a} \frac{m^r + mn + n}{a-m} = r \Rightarrow \lim_{n \rightarrow a} \frac{m^r - ram + ra^r}{a-m} = r$$

$$m^r + mn + n \rightarrow (a-m)(ra-m) = m^r - ram + ra^r$$

$$\lim_{n \rightarrow a} \frac{m^r - ram + ra^r}{a-m} = r \div \frac{(a-m)(ra-m)}{a-m} = \textcircled{ra-m}$$

$$\lim_{n \rightarrow a} ra-m = r \quad ra-a = r \quad \boxed{a=r}$$

$$m+n \Rightarrow -ra + ra^r \Rightarrow -r(r) + r(r) = -r + r = \textcircled{r}$$

$$1-m = 1 - (-4) = 1 \times$$

$$f_r = \begin{cases} \frac{n^r + |n|}{n^r + a|n|} & n \neq 0 \\ \frac{ra-1}{ra+r} & n = 0 \end{cases}$$

$$\lim_{n \rightarrow 0} \frac{n^r + |n|}{n^r + a|n|} = f(0) \Rightarrow \lim_{n \rightarrow 0} \frac{ra+1}{ra+a} = \left(\frac{1}{a}\right)$$

$$\frac{1}{a} = \frac{ra-1}{ra+r} \Rightarrow ra^r - a = ra+r$$

$$ra^r - a = r \Rightarrow (a-r)(a+\frac{1}{r}) = 0 \Rightarrow \begin{cases} a=r \\ a=-\frac{1}{r} \end{cases}$$

$$\lim_{n \rightarrow \frac{1}{r}} f(n) = \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + r(\frac{1}{r})} = \frac{\frac{2}{r}}{\frac{1}{r} + 1} = \frac{2}{1+r} \quad \left(\frac{r}{a}\right) \checkmark$$

(p)

$$\lim_{n \rightarrow -r} f(n) = \frac{\varepsilon + r}{\varepsilon - \frac{1}{r}} = \frac{\varepsilon + r}{\frac{\varepsilon r - 1}{r}} = \frac{r(\varepsilon + r)}{\varepsilon r - 1} = \frac{r}{1-r} \quad \text{GGZ}$$